
SHEET  

SUBREV :  

1

101

DRAWN BY :  

B

1 OF 

201 -

CT

P/N :  CW30990

DATE :  03.09.06

11

15

20

14

10

2.01-2.16

4X

18

2X

4

17

4X

9

1.01-1.16

4X

4X

501

2X

12

16

13.01-13.29

16X

7

4X

19



Part Number Description
Bubble 
Number

CW201SA1-211 ASSY,FRAME,MAIN,201,SKY WHITE 1.01
CW201SA1-321 ASSY,FRAME,MAIN,201,TITANIUM HG 1.12
CW201SA2-211 ASSY,PAD ADJ,201,TITANIUM HG 2.12
CW201SA2-321 LABEL, "ICARIAN", 3 X 16 3/8 3
CWAC1002-101 ASSY, POP PIN, 0.450 DIA NOSE, BLU 4
CW30165-752 LABEL, "ASSEMBLED IN THE USA" 5
CW34822-101 CAP, TUBE, PLASTIC, ROUND, CCF-5/8- 7
CWAC1164-101 LABEL, WARNING, SERIOUS INJURY 8
CW11382-105 GRIP, RUBBER, .75" OD HANDLE, 5.00" 9
CWAC1183-101 GUIDE INSERT, PLASTIC WITH HOLE, BL 10
CWGR2505-000 HANDLE END CAP W/SET SCREWS, DIA 3/ 11
CWAC1236-104 CUT PIECE, UHMW, 1/4 X 3 7/8 X 11, 12
CWAC220-901 RIVIT, DIA .187, .376-.500 GRIP RAN 14
CWCP1143-101 SCREW, BUTTON HEAD, BLK XYLAN, 5/16 15
CW10175-108 SCREW, SOCKET HEAD, BLK XYLAN, 1/4 16
CWTAYN031-100 WASHER, FLAT, TYPE A, SAE, 5/16 ID 17
CWCAYN025-050 WASHER, SPLIT, 5/16 ID, BL 18
CWWBKN031-007 LABEL, PRECOR USA ICARIAN LINE 20
CWWALYN031-008 FLOOR PROTECTOR, RUBBER, 4.563 X 4. 501

201 Standing Preacher Curl

https://www.gympart.com/itemdesc.aspx?ic=PSP1067&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1844&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR17654&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1401&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR11370&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1259&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1261&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1260&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	201 Standing Preacher Curl
	201_Standing_Preacher_Curl_Parts List

